il

g
=
s
i

1. ¥¥4
EB4 EiE 3 F AT ER (2o 1) 5
JBA T HAZK TBERT M5

2. EBEAR
1) FEF4

110 AT B 4f 64 7TH14H

2) JEITHIM
= Sf 64E10H31H

3) wHwyI

4) EBNE
AL, BR6ET A 1 4 HOKRWIC KV [EE 3 5 H/KATEERTHISE THek L7z

ETOISBEIBZATV., BEIEIRICAS THA - REHE2FERT 250 TH D,

E+sZi@E SN



=)
W4 | [ENE 3 HHIKHFENILENR (2D 1) %5 E BB
H H HEHI&
THH - T - fER] A7 # 4 % OB ORR
HiF & = 1,199, 142
Zerh B 2y 417, 100
ek 2y 417,100 | SEFEHRELE
1 =X
FiLH £ =X 782, 042
L £ =X 490, 042 | BiHbHIE: (FEZEETHE)
1 kW
T A
(1 )1 (km2) XK
T AU B = 292,000 | & SELA
1 e
S = = 64, 770
BRI = 64, 770
T 2 64,770 | DA
0. 05 km
TR
0. 05 km
R = 58, 722
PR = 58, 722
Ve Gk = 6,722 | fickr (FFE - BRI
1 =
AR S T ERCE = 52,000 | EFECRMIERE
1 =
EEEN B = 1, 322, 634

E+sZi@E SN



i
I
St
%lljll
I

W4 | [ENE 3 HHIKHFENILENR (2D 1) %5 E BB
H H MRS
THH - T - fER] A7 ¥ & 4 % OB ORR

R e = 1 1,077, 366

FEIRE E2V 1 1,077, 366
T ESEG MR 2y 1 2, 400, 000
TERERET 2y 1 4,996, 648

TERERE 2y 1 885, 398

JE R R X 1 885, 398 | EFEFEAIREEE (B)

0.05)1  (km =
#ER1/1, 000

— xRS E T = 1 4,111, 250
— A TR 2V 1 978,078 | HEBE - fhrR L
(1 )1 (& X
eI
(1 )1 (& X
— SRR R = 1 1,746,472 | KRBT v v 7 fEEE
( )1 (fpn =
TG BiER
@ )1 (fpn =
55 PR BRI = 1 1,386,700 | $S¢ERFEERSEMER
1 =
LA = 1 422,500
Hom GREHEER) v 1 422, 500
Frewss: = 1 422,500 | FTAE
1 =
B F 1 361, 694

-2 - E+sZi@E SN



%lljll
I

W4 | [ENE 3 HHIKHFENILENR (2D 1) %5 E BOES
H H B
THH - T - fER] B fr & 4 % OB ORR
[ERE5 S = 361, 694
TR m =X 33,694 | fit%y (REtE - EAME)
1 X
Ty 2 328,000 | FEFHRAIERE
1 X
EHEEA (ZOMFmER <) =X 5, 780, 842
Z DA =Y 2, 880, 098
— BB = 4,659, 060
SRR X 13, 320, 000
SRR X 15, 720, 000
-3 - E A28 SUNHT R



